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And how much is a e — WIS N7 TR

OVERVIEW

The mawn explains that the value of a 7179 is an eighth of (the value of) the
"PHWVRT T0°K. The mawn, however, did not explain the value of a 717. Our
MdoIN resolves this issue.

mooIN anticipates and deals with this difficulty:
— 95%1 N)D N2 W91 NIT NN
The reason the 71wn does not explain how much is a 2297, is -
— D90 DI PYT 1PN 7T OIVN
Because they knew how much a sliver 9197 was worth; the value of a 1°7 was
known and it was stable and it did not fluctuate -
— (3,70 47 xv¥n x23) TAATN YWD 1929NTD 20T YW 93973 1179 1NN NINY
For it was a twenty-fourth of a golden 9197 as the Xn) states in 2777577 PP -
—3(8,27 97) 1979 X232 XONYD XIIN AV YaN
However concerning a w11 there is a dispute in the X923 later as to the
value of a 7B -
— 5595355 19313979 99991 “panct
(And) occasionally the 7o°x is cheap® and there is less than eight mv1® in
an /1o°x and occasionally the 10°X is expensive and there are eight mu1s in an
oK.

! Others amend this to 1"on; see however 11"nx footnote # 378.

* The 2711 71°7 as well as the 703 71°7 were well established and there is no dispute concerning their values.

? The X3 there first cites a NP2 between 27 'Y who maintains that a 70179 is an eighth of an 7o°X and
127 who maintains that a 7179 is a sixth of an 7o°X. Initially the X773 argued that their dispute parallels the
dispute between the p"n (of the Xn>72) who maintains that a 770179 is an eighth of a 70°X and 3"aw1 who
maintains that a 70179 is a sixth of a 70°X. The X3 concluded that 7°27 also agrees with the p"n that a 7v17d
(usually) is an eighth of a 70°X; however when the 70°X becomes devalued (and there are 32 0°70°X in a 717
instead of the usual 24 ooX per 71°7) then there are only six N1 per 10X, It appears therefore that
according to X"2w" a 1D is always a sixth of an 70°R. Our 71wn teaches us that the 7357 is like the p"n that
a 7o is an eighth of a 70°X (when there are 24 0°10°X per 11°7 [see following X 7"7 mpoN]). [There are
(seemingly) always 192 mwna per 11°7. 32 0°0°K per 117 multiplied by 6 nwmo per MoX renders 192
Mo per I°7; and likewise 24 0°710°R per 717 multiplied by 8 n1v175 per 70k equals 192 M7 per 17.].

* In the w"X77 Moo the RO is SPYT P VR K717 17N (to indicate a new answer).

> This may depend (among other things) on the amount of silver present in the 10°.

% Others interpret 121 °917 17 to refer to the mMw1o; however this would seem to contradict the X073 of
the "X N190IN, and also the X3 which states (on X,2°) >710°X 211 " 10K MP°R. See nwn noMA.

" When the q0°x is cheap, that there are 32 00X per 11°7, then the 7179 is a sixth of an 70°X.

¥ This may cause confusion, and even in a time when there are eight M9 in an 70X others may think that
a sixth of an 70°X is required, therefore the m1wn clarifies that (only) an eighth of an 70°X is required (when
o172 o1e°Ki). See: ‘Thinking it over’.
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mooIn offers an alternate solution:
$990 YWIN9Y DD SYAIN NONND )Y NPT HDN 592 29397 I

And in addition, it is most necessary to interpret the view of 7''2 since

we follow their ruling. This explains why the 71wn did not bother to interpret X1 13
117 (which is the ruling of w"2) since the 715277 is like 7"2.

SUMMARY
The mwn explains the 7VIID because its value is not as stable or fixed as that
of the 11>7, and because it is the view of 11"'2 which we follow.

THINKING IT OVER

It seems that at all times there are 192 M7 in a 71’7 (regardless of the
fluctuation of the 10°x)’. Why does not the 71wn state the value of a 70179 in
terms of a 711°7 (instead of the fluctuating ‘HD’N)?!IO

® See end of footnote # 3.
10 See w"wn.
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